3 0Z WAS - §98061



3 0Z WAS - §98061



490865 - SYM 70 E

Pos. |[No.
1 203141
2 491209 230V
3 490651
4 457410 EU
5 432436
6 490922
7 10201030
8 490878 230V
9 461242
10 461949
11 491440
12 491441 (pair) 230V
13 461397
14 400680
15 644927
16 461236
17 789575
18 219080 - 4,0 x40 mm
19 223541 M6 x 18
20 434135 M10
21 228642
22 733292

CD:3



490865 - SYM 70 E

Pos. |[No.
23 732835
24 203146
25 461234
26 491445
27 434180 M6 x 60
28 228689 M6
29 491446
30 415839
31 461879
32 732826
33 401244
34 401576 -
35 491447
36 400095 M5 x 12
37 200128 M6 x 25
38 217149
39 228519
40 732770

41 10026837

42 733361
43 733287
44 761515 53 mm

CD:4



490865 - SYM 70 E

Pos. |[No.
45 400576 M5 x 8
46 491449
47 461239
48 219071 - 40x12 mm
49 461244
50 491053 Il —
51 400714 M6 x 12 LH
52 203147
53 771392
54 400685
55 491451
56 491452
57 842286
58 559075

59 10029300

60 459742
61 459741
62 436195
63 228566 M6
64 491938
65 707992
66 491453

CD:5



490865 - SYM 70 E

Pos. |[No.
67 202058
69 491456 symetric
70 -
71 434131 M5
72 491457
73 228713 - 4,0x16 mm
74 403100
75 727814
76 491458
77 461381 230V
78 202059
79 203140
80 491939
81 491461
82 202061
83 228686 - M5x 14

84 10006183

85 202060
86 707993
87 491463
88 203145
89 203139

CD:6



490865 - SYM 70 E

Pos.

No.

90

91

92

9999

CD:.7

258598

639095

10006197

XXX

M5




